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(c) Fineness of homogenized 
hair
T: coarse
P: fine
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(f) Drying method
D1: drying under nitrogen gas 
D2: drying with vacuum oven
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(e) Extraction time
24 hours vs 8 hours

1.05 1.10 1.15 1.20 1.25

1.
15

1.
20

1.
25

1.
30

1.
35

1.
40

1.
45

1.05 1.10 1.15 1.20 1.25

1.
15

1.
20

1.
25

1.
30

1.
35

1.
40

1.
45

r = 0.78, p = 

Log(1hr)

Lo
g(

24
hr

s)

(e)Extraction time
1 hours vs 24 hours
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(e) Extraction time
1 hours vs 8 hours
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(a) Body part_arm only
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(b) Reproducibility
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(b) Preserve, 1 yr

1.00 1.05 1.10 1.15 1.20 1.25 1.30 1.35

1.
00

1.
05

1.
10

1.
15

1.
20

1.
25

1.
30

1.
35

1.00 1.05 1.10 1.15 1.20 1.25 1.30 1.35

1.
00

1.
05

1.
10

1.
15

1.
20

1.
25

1.
30

1.
35

r = 0.90, p < 

Log(First)

Lo
g(

S
ec

on
d)

(b) Preserve, 2 yr
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